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Maths Revision 8 
 

Number Families 
 
3 + 7 =      7 + 3 =        7 – 3 =        10 – 7 =          10 – 3 =   

 

4 + 3 =      3 + 4 =        7 – 3 =        7 – 4 =          4 – 3 =   

 

Division 

 
 

15÷3 =   

 

 
 
15 ÷ 5 =   

 

     10 ÷ 2 =   
 

 10 ÷ 5 =    

 

  12 ÷ 3 =  
 

  12 ÷ 4 =  

 
14 ÷ 2 =  18 ÷ 2 =  12 ÷ 2 =  16 ÷ 2 =  
 

22 ÷ 2 =  10 ÷ 2 =  8 ÷ 2 =  6 ÷ 2 =  
 
Multiplication 
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3 x 4 =    

 

     
 

4 x 3 =    
 

Counting Patterns 
 
Start at 63 and count up by 3’s until you get to 93 

           

            

 

Start at 2 and count up by 10’s until you get to 122 

           

            

 

    +5      -8        +2        +1 +7  +5    -8     +2 

8          

 

  +6    +6 

6         

 

How many legs on four cows and six cats?   


